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chapter 1 sample test - living things
Answer Section
MULTIPLE CHOICE

1. ANS: C DIF: LI REF: p.A-7 :
STO: 5.5.A.2,55A2a 4 Tl
2. ANS: B DIFs L1 REF: p. A-8 .
ST B8 ADa S5A2.4:5 1.8 ¥ e
3. ANS: A DIF: L1 REF: p. A-13 :
SEO- S IR 5189 5183 b S
4. ANS: A DIF: L2 REF: p. A-1 s
A p. A-14 OBJ: A.1.13
5. ANS: C DIF: L2 REF: p. A-22 ORY: A.12.5
ST@: 52.B2.55B2. 55.C.1 . e
6. ANS: C DIF 11 REF: p. A-31 OBJ: A.l4.1
SHQ SR L 524 Ta 5141 :
7. ANS: A Dl 1o REF: p.A-31 OBJ: A.14.1
SILOs 82 B.1 3974 1.a 514
8. ANS: C DIF: L1 REF: p.A-32 OBJ: A.142
STOe5.8 Al
9. ANS: A DIF: Ll REF: p. A-17 OBl: A.12.1
SIFDY 9018 5.3 Avlb. 52 B.1
10. ANS: B DIF: L1 REF: p. A-17 OB A 101
S ST |05 3 Act b 5. 2B
1L ANS: © DIF: L2 REF: p.A-18 GREI A 101
ST0: 5 3B 5175 LA2
12 ANS: B DIF: L2 REF: p. A-20, p. A-21
BBy A 122 8TO: 5.5.B.1
3 ANS C RIE: 1.1 REF: p. A-20 R AN D 2
S . 5.5.B: 1
14. ANS: A Dips 12 REF: p.A-23 OBJ: A.124
830 $§5B.1,51.A4.5.1.B3
15, ANS: C DIE: L1 REF: p. A-23 OBJ: A.124
S§10:; %5B.1,5.1.A4,51B3
16. ANS: C DIF: LI REF: p. A-26 DB A 131
St 55 B, 5 1.61.B3
7 ANS: D Bl B3 REF: p. A-29 OBJ: A133
ST 5581, 5.54.24d
18. ANS: A DIF: L2 REF: p.A-8 OBJ: A.l.l.l
SRy 55A2a/55A24, ol )
19. ANS: B DIF: L2 REF: p. A-11 OBl A.112
gD 5.5 5.1B.1
20. ANS: D DIF: LI REF: p. A-20 OBl: A.122
§T0: 5.5B.1
21. ANS: B DIF: L3 REF: : g—g,g.sAiz
: § 2] STO: 5.5.A.2.3,55A.24d,5.1.B.2,5.5.A.
S OBJ: A1.1.2

22. ANS: B DIF: L2

B 5.5,55.A

REF: p.A-10



. ANS: D DIF: L2 :
STO: 58B. LS T AL 5183 Sl e OBJ: A124
A ANSSER DIE: 13 ;
STO: 5.5.A,5.5.A2,5.1.B23 Skt OBJ: A1.13
25. ANS: A DIF: L2 ) i ;
STO: 5.5.A.2.a,5.5.B.1 b e OBJ: A.132
26. ANS: D DIF: LI REF: ; _
ST 55 A2 als 50 1750 S ORY. 18,3
2y ANS: B DiE: 12 REF: ; :
STO: 5.5.A 28 55B:1,5.1 I e QBLawlae
28 AN © DIF: LI REF: p. A- :
NG 554 55A2,5.1B3 bt Oblanide
29. ANS: C DI 1.1 REF: p.A-22 :
SO 50 B0 5 5B 25,50 ¢ DI b
30. ANS: B DI 1.2 REF: p. A-26,p. A-27
OBJ: A.13.1 STO: 5.5B.1,5.1,5.1.B.3,5.5.A2.a
MODIFIED TRUE/FALSE
31. ANS: F, Development
DIF: L1 REF: p. A-9 ORI AT 41 SO 55 A 5 STAD A SA2 A
32 0 ANS AT DIF: L3 REF: p.A-12
DRl A (13 SHG S A 55025183
33, ANS! T B 12 REF: p. A-32
@Bl ATA2 STO: 5.3.A.1
34. ANS: F, taxonomy
DIE: T4 REF: p.A-17 QBT+ A121 S0 53D 18 53.A10,.528.1
35. ANS: F, similar
DIR:: 1.3 REF: p.A-23 OBJ: A.124 STO: 5.5B.1,5.1.A4,51B3
36. ANS: T DIF: L3 REF: p.A-18
OBJ: A.121 STO: 5.5B,1,5.1,5.1.A.2
37. ANS: F, phylum
b 12 REF: p.A-20 OFls All.22 ST 5 5B
a9 ANS: T DIF; Ll REF: p.A-28
OBE Ad33 STO: e R (e
39. ANS: F, prokaryotes
BIF: L2 REF: p. A-27 B ALL3:1 STiLE S 5IA 2.8, 5581
40, ANS: T DI 1] REF: p. A-10
OBJ: A.1.1.2 STO: 5.5,55.A
+ multicellular
p. A-7 OBJ: A.l.l1 NP B 5 A2 00A2a

DIF: Ll REF:



42. ANS: response

LR ] REF: p. A-9 ORBJ:
43. ANS: autotrophs E STO: 5-5-A-2,5.5.A.2.a,5.5.A.2.d

IR ], REF: “n A-12 OR): A1 .

‘ 44. ANS: homeostasis s e 335.A,55A2,51B3
ke 12 REF: p. A-14 OB). A113 ST
e A (840

45. ANS: oxygen A

Pk 1.2 REF: p. A-31 OBJ: A.14.1 B0 B2B1 5241 2451471
46. ANS: taxonomic key

Diye. 12 REE: p. A<22 OB A 123 B0 50 R 295 6 B 5,501
47. ANS: oceans

DI 1.2 REF: p. A-31 OBJ: A.14.1 ST0:"5.2B.1.52.A.1a, 5.1.A.1
48. ANS: fossils

DPIRy L1 REF: p.A-32 OBJ: A.142 STO: 5.8.A.1
49. ANS: classification

IR 1A REF: p. A-17 OBJ: A.1.2.1 SO 53 DA 53A10,528.1
50. ANS: taxonomy

ke 1.2 REF: p. A-17 OB): A1D1 ST s 3D 13 5.3 A 1b, 5281
51. ANS: biology

T 1S REF: p.A-23 OBJ: A.124 STO: 5.5B.1,5.1.A4,5.1B.3
52. ANS: organism

Diby 1. REF: p. A-23 OBJ: A.124 S 53 B1 51.A4 5.1 B3
53. ANS: genus

DIE; L2 REF: p. A-18 DBJaA 1321 S0 Ea s B5.105.1.A0

54. ANS: Linnaeus

O 1) REF: p.A-18 DBEL A.1.20 BT TS 5B L5 1, 5.1.A2
55. ANS: domain

BIF: L1 REF: p. A-20 OBl A122 STO 8.5.8.1

ANS: species

REF: p.A-20 ORI AL2.L SRERE e iR

REF: p.A-20 OBJ: A122 ST 55 B




LS o REF: p. A-27 OBJ: A.132

59. ANS: protist STO: 55.A24a,558.1

IR REF: "p. A28 OBJ:
60. ANS: plant FATTR83 ST 5 61A D5 SiariRy il 5l
PR 12 REF: p. A-28 OBJ& A
D, A B8 :
L STO:" 5,54 % S5 B hi]
73. ANS:
Computers do not have all of the characteristics of living thi
things. Comput
cannot reproduce. They do not grow and develop. ik s e D
DR 2 REF: p. A-7 OBJ:  A.T.1.1 STO:
LD 0Nl EBISNAD S5 5 AD
74. ANS: s
Organisms may be autotrophs or heterotrophs. Autotrophs can make their own food from nonliving things.
Heterotrophs cannot make food and must consume other organisms as their energy source.
DIE 1.2 REF: p.A-12 OBY: = A.1.1.3 SFO: S8 AVSS AD 5183
755 ANS:
The early autotrophs produced oxygen as a waste product when they made their food. Over millions of years,
oxygen accumulated in Earth’s atmosphere. The presence of oxygen made it possible for organisms that
require oxygen to survive and evolve.
INE: 13 REF: p. A-32 ORI A7 SHOT5.R.A L
76. ANS:

The same organism may have different common names in different areas. For example, the same animal may
be called a woodchuck, groundhog, or whistlepig. An organism has only one scientific name, though, so all

scientists will use the same name for it.

s, 13 REF: p. A-19 OBhe A2 1 STO: S5.5.B.1

77. ANS:
Linnaeus placed organisms in groups based on their observable characteristics. He developed the naming

system called binomial nomenclature.

e 12 REF: p.A-18 OBY. ALL2.1 SECLES SBATh T 5L AD

78. ANS:
No, that information cannot be correct. A family is a subgroup of one order, and an order is a subgroup of one

class. Therefore, any two organisms that belong to the same family must also belong to the same class.

- 1.3 REF: p. A-20, p. A-21 ORILA 122
S10; 5.5.B.1
ANS: : . ; .
to as the odds and ends kingdom because its members differ so much from

The protist kingdom is referred

one another. Some are autotrophs and some are heterotrophs; some are unicellular and some are multicellular

L3 REF: p.A-28 OR¥: Al33 RT0 A0 A2a,5.50B.1, 5%

k your presentation




